May 16, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 21 Marion Drive

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated May 14, 2025, to cut and clean the lot located at 21 Marion Drive, a crew was sent out to perform the work. The job was completed on May 15, 2025 at a cost of \$27.26. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

*		\$ per	
ų.	hours	hour	
Manhours 1:	0.92	\$15.23	\$14.01
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.33	\$25.00	\$8.25
Weed Eater Hours:	0.25	\$20.00	\$5.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$27.26

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

May 6, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1516 N 3rd Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 29, 2025, to cut and clean the lot located at 1516 N 3rd Avenue, a crew was sent out to perform the work. The job was completed on May 5, 2025 at a cost of \$24.09. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

				1
		\$ per		
	hours	hour		
Manhours 1:	0.5	\$15.23	\$7.62	
Manhours 2:	0.33	\$15.23	\$5.03	
Tractor 1 Hours:		\$17.33	\$0.00	
Tractor 2 Hours:		\$17.33	\$0.00	
Bush Hog Hours:		\$20.90	\$0.00	
Truck Hours:		\$11.75	\$0.00	
Trailer Hours:		\$16.99	\$0.00	
Lawnmower Hours:	0.33	\$25.00	\$8.25	
Weed Eater Hours:	0.16	\$20.00	\$3.20	
Chain Saw Hours:		\$3.39	\$0.00	
Pole Saw Hours:		\$1.75	\$0.00	
Total			\$24.09	
			1-50.0	D Admin Fee
501.00				
\$ 14.09				
Please contact me at 601-319-6170 should v	ou have	any question	10	

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

May 6, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: Lot N of 403 W 13th Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 29, 2025, to cut and clean the lot located at Lot N of 403 W 13th Street, a crew was sent out to perform the work. The job was completed on May 5, 2025 at a cost of \$60.35. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

		\$ per	
	hours	hour	
Manhours 1:	0.75	\$15.23	\$11.42
Manhours 2:	0.75	\$15.23	\$11.42
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	1.5	\$25.00	\$37.50
Weed Eater Hours:		\$20.00	\$0.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$60.35

+50.00 Admin Fee

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

May 6, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1805 N 3rd Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 29, 2025, to cut and clean the lot located at 1805 N 3rd Avenue, a crew was sent out to perform the work. The job was completed on May 5, 2025 at a cost of \$20.12. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

		\$ per	
	hours	hour	
Manhours 1:	0.25	\$15.23	\$3.81
Manhours 2:	0.25	\$15.23	\$3.81
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.5	\$25.00	\$12.50
Weed Eater Hours:		\$20.00	\$0.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$20.12

-50.00 Admin tee

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

April 22, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: Lot S of 212 Melon Street

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 14, 2025, to cut and clean the lot located at Lot S of 212 Melon Street, a crew was sent out to perform the work. The job was completed on April 21, 2025 at a cost of \$68.19. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	\$ per		
hours	hour		
1.5	\$15.23	\$22.85	
1.5	\$15.23	\$22.85	
	\$17.33	\$0.00	
	\$17.33	\$0.00	
	\$20.90	\$0.00	
	\$11.75	\$0.00	
	\$16.99	\$0.00	
0.5	\$25.00	\$12.50	
0.5	\$20.00	\$10.00	
	\$3.39	\$0.00	
	\$1.75	\$0.00	
		\$68.19	
	+	-50.10	Admi
	1.5 1.5	hours hour 1.5 \$15.23 1.5 \$15.23 \$17.33 \$17.33 \$20.90 \$11.75 \$16.99 \$25.00 0.5 \$20.00 \$3.39	hours hour 1.5 \$15.23 \$22.85 1.5 \$15.23 \$22.85 \$17.33 \$0.00 \$17.33 \$0.00 \$20.90 \$0.00 \$11.75 \$0.00 \$16.99 \$0.00 0.5 \$25.00 \$12.50 0.5 \$20.00 \$10.00 \$3.39 \$0.00 \$1.75 \$0.00

Please contact me at 601-319-6170 should you have any questions. \$118.19

Sincerely,

Elvin Ulmer, Director

April 25, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1114 N 1st Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 22, 2025, to cut and clean the lot located at 1114 N 1st Avenue, a crew was sent out to perform the work. The job was completed on April 24, 2025 at a cost of \$52.96. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

			NO. IN COLUMN THE REAL PROPERTY.
		\$ per	
	hours	hour	
Manhours 1:	1	\$15.23	\$15.23
Manhours 2:	1	\$15.23	\$15.23
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.5	\$25.00	\$12.50
Weed Eater Hours:	0.5	\$20.00	\$10.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$52.96

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

50.00 Admin Fee

April 25, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1025 N 1st Avenue

Sandra Hadley,

After receiving Talana Fagan's Council Order request dated April 22, 2025, to cut and clean the lot located at 1025 N 1st Avenue, a crew was sent out to perform the work. The job was completed on April 24, 2025 at a cost of \$24.90. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	\$ per	
hours	hour	
0.33	\$15.23	\$5.03
0.33	\$15.23	\$5.03
	\$17.33	\$0.00
	\$17.33	\$0.00
	\$20.90	\$0.00
	\$11.75	\$0.00
	\$16.99	\$0.00
0.33	\$25.00	\$8.25
0.33	\$20.00	\$6.60
	\$3.39	\$0.00
	\$1.75	\$0.00
		\$24.90
	0.33	hours hour 0.33 \$15.23 0.33 \$15.23 \$17.33 \$17.33 \$20.90 \$11.75 \$16.99 0.33 \$25.00 0.33 \$20.00 \$3.39

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director